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Unit 9: Problem Set 3
Directions: Solve each problem by showing the following: formula, assignment of
variables, plug in numbers with labels, answer with label. (Numbers 7 and 8 may be
solved a different way too. Do you remember how to do it?) "
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1. A sample of argon gas is at a pressure of 1.24 x10* kPa and a temperature of 24
°C in arigid 25 L tank. How many moles of argon does this tank contain?
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2. A-35.0-L tank contains 7.00 mol of compressed air. If the pressure inside the tank

is 4.94 atmospheres, what is the temperature of the compressed gas?
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3. How many grams of helium does a 25,000 ml balloon contain at 102.0 kPa and 24
o eC? ;
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4. Calculate the volume that 2.25 mole of 02(g) will occupy at 0 °C and 1 atmosphere
of pressure.
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5. A sample of water - vapor occuples a volume of 10.5 L at 200 C and 1 00.0 kPa.
What volume will the water vapor occupy when it is cooled to 27 oC if the
pressure remains constant?
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6. What is the volume occupied by 0.355 mole of nitrogen gas at 68Qmm Hg and 25
o(C?
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7. What is the volume of a container that holds 25.0 g of carbon dioxide 6 STP?
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8. What volume is occupied by 5.80 x 10** molecules of an ideal gas at STP‘?\
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